The Glory of Ancient Indian Science

Activity |
Question 1. Choose the correct alternative :

(i) Scientific research in ancient India, was at its peak for a period of about :
(a) 400 years
(b) 1100 years
(c) 700 years
(d) 100 years

Answer: (b)

(i) Under the Maurya, Shaka and Gupta empires, scientific research flourished because :
(a) There was no shortage of money to stop it.

(b) There were famous universities at Nalanda, Varanasi and Taxila.

(c) There was much exchange of scholars with neighbouring countries.

(d) Of all the three reasons put together.

Answer: (d)
Question 2. Say whether the following statements are True or False :

It was believed that heritage is an import from Europe.

Indus valley civilization consisted with excellent water supply and drainage system.
The university of Taxila was founded by Bhaskar.

Sushruta discovered the concept of zero.

Aryabhatta studied at the university of Nalanda.
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Answers:

True
True
False
False
True
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Answer the following questions in about 10-20 words each

Question 1. Mention the fields in which remar-kable progress was made upto the

7th century A.D. 31 &3 BT I HITOTT FoTH TTda JdTea! db Ieeg-1g YT Pi T |

Answer: Remarkable progress was made in the fields of mathematics, astronomy and
medical science.

TITOrd et faw STR STy fag & &7 # Jecie-a wifd g5 |

Question 2. What according to Charak was the total number of bones in human

body? TR & TR AT IR H & foba-! grgal siail 82

Answer: According to Charak, there are 360 bones in human body.

(@RS P IR AT TR & 360 gFAT T 7)

Question 3. Who is known as the father of anaesthesia?

VTRARET (R &1 S 5T &1 Hgl ST 82

Answer: Sushruta is known as the father of anaesthesia.

Y B TTRARET (8T &1 S el ol 3|

Question 4. How can we say that India is on its way to gain the scientific glory
again ? B4 $Y $8 IHhd g (b HRd U faq Geieft qUa SIaRT Ui & & T R
SRR 87

Answer: India is now a member of nuclear club, space club and Antarctica exploration
club. All these things show that India is on its way to gain its scientific glory again.

(3F HRT IR F7e, TG e 3R 3cTbfedh AT daid BT I g1 F I+t a1
e ¢ fop R Ui A deeht 34T SaRT U & & UY TR 3RRR 8 )

Question 5. What advice did Sushruta give to his students for practicing surgery?

ey ffbd & 3 & forg Gy 3 SN ol ol Hellg o o2

Answer: Sushruta advised his students to do practice on dead bodies before surgery.

Toi! B Ugd gYd 30 Rl &1 Jd IRRT W 3191 H B 918 od Y|



Activity Il

Question 1. Match words in column A with - their meanings in column B:

PHIaH ‘A’ P Wsgl b1 i wiad ‘B’ 7 feu 39 31f T wifore -

‘A’ ‘B’

1. drainage (a) to get destroyed the

2. relic (b) scientific study of the
sun, the moon and the
stars

3. anaesthesia |(c) means of carrying
away dirty water

4. decayed (d) a substance that
causes insensitivity to
pain

5. astronomy (e) an object of historical
importance

Answers:

(@
(e)
(d)
(a)
(b)
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Question 2. Fill in. the blanks choosing the words from the box :
IR o I Teg AR Nad R BT Y PifoTd -
heritage, significant, civi_lizatiﬁn,-

physician, nuclear

1. The culture and traditions are insepa rable part of ...................

2. Thereisabig .....ccoeceee. power plant in Rawatbhata.

3. MrSharmacalleda ................... urgently when his mother had a heart attack.,

4. Rajasthan is known for its ................... forts and hospitality all over the world.

5. Mobile phones play a ................... role in everyday life of common man.
Answers:

1. civilization
2. nuclear
3. physician



4. heritage
5. significant.

Activity Il

Question 1. Read the following sentences :

(a) Outstanding contributions were made in the fields of mathematics, astronomy and
medical science.

(b) The concept of zero was discovered around the fifth century A.D.

2 a1l H Subject B JULT B T3 ¢ | T UHR & I Passive Voice & 16T HEA g

Change the following sentences into the passive voice

Question 1.

The cook has prepared many dishes.
Answer:

Many dishes have been prepared.

Question 2.

People speak Hindi in Rajasthan.
Answer:

Hindi is spoken in Rajasthan.

Question 3.

We should always help the old people.
Answer:

The old people should always be helped.

Question 4.

Newton discovered the law of gravitation.
Answer:

The law of gravitation was discovered.

Question 5.

We do not sell imported goods.
Answer:

Imported goods are not sold.



Fill in the blanks choosing the correct alternative

(i) He cooeeeee by the police once already.
(a) is being arrested

(b) has been arrested

(c) is arrested

(d) has arrested

(i) Most of the cities .................. by an earthquake in 2001.
(a) destroyed

(b) were destroyed

(c) has been destroyed

(d) was being destroyed

(i) The baby .................. by our mother tonight.
(a) are being looked after

(b) looked after

(c) is being looked after

(d) was being looked after

(iv) All the envelopes .................. by the new clerk.
(a) had addressed

(b) is being addressed

(c) was being addressed

(d) were addressed

(v) That desk .................. several times this year.
(a) is being repaired

(b) has been repaired

(c) had repaired

(d) were being repaired

Answers:
(i) (b)

(i) (b)

(i) (c)

(iv) (d)

(v) (b)



Activity IV

Question 1.
Complete the table given below choosing the facts from the text :

U169 HIT H ¥ 9 AR -1 38 T3 fad & Q1 Hifore -

Answer:
The underlined words have been given in the table. Rest have to be filled by you.

ifdd Weg <fod F fGU U § | Y TTT WA § -

Name field Achievements

Sushruta |Surgery |Plastic surgery;
repaired nose, eye
operation, healed
fractured bones
father of anaesthe-
sia

Charak Physician |Medicinal uses of
(medicine) |herbal plants,
about 10,00,000
herbal plants

Aryabhatta| Astronomy|Earth is round,
rotates on its axis,
creating day and

night
Bhaskar Mathe- Discovered concept
matics of zero

Passages for Comprehension

Read the following passages and answer the questions that follow :

frafafad mer=h o ugwr A faw usi & IR i -
Passage 1

There is proof that more than 3,000 years before the birth of Christ, people of this
country had much scientific knowledge. Relics of the Indus valley civilization found at
Harappa and Mohan-jo-daro (now in Pakistan) show that their cities were well planned,
with excellent water supply and drainage systems. The progress they had made in
agriculture, brick making, craft and industry was remarkable. Their clothes were made of
cotton. For reasons yet unknown, this civilization decayed and was lost. The cities got
buried.



Question 1.

“People of this country had much scientific knowledge”. Which country does the writer
refer to ?

2 I & ANT a9 o Tl H g8 IH I U1 TGw by <= 1 3R Havd HRl /7
Answer:

The writer refers to India.

WGP HRATY Bl 3R Hbd HdT |

Question 2.

How do we know that ancient Indians had well-planned cities ?

& &4 UaT Iadl ¢ | o Teie YRAaTRi & TR deres 37

Answer:

From the relics of Indus Valley in Harappa and Mohen-jo-daro, we know that they had
planned cities.

fRieaTc) B J1IaT B ARV S gSWT 3R AgAoiers! TR ¥ i § 393 ydr gotan & &

3 TR GloTeg diid 4 o4 gu U

Question 3.

which systems were excellent ?

DI-t gonferdt aga afgar Ui

Answer:

Their water supply system and drainage system were excellent.

I U Bt 3TYfd 3R U @ et 1 et sgd sfear o

Question 4.

Name some good achievements of the Indus Valley civilization

e Td & $8 I« & =9 ford |

Answer:

Agriculture, brick-making, craft and industry were remarkable. They knew how to weave
cotton clothes,

P, 3¢ FTFI, GTHIBRI 3R IAN Ieera14 A1 d el HUST g1 47 T

Question 5.

Write the word from the passage which means 'very good.
Answer:

excellent.

Question 6.
Write the word from the passage which is opposite to ‘found'.



Answer:
lost.

Passage 2

One of the earliest scientists was Sushruta. He repaired a nose some 26 centuries ago
and was the first plastic surgeon. He was an expert in removing urinary stones,treating
fractures and eye operations. He even advised his pupils to use dead bodies for practice
before surgery. He is known as the father of anaesthesia also. Charak was the first
physician who suggested that there were 360 bones in human body. He has also
described medicinal uses of about 10,00,000 herbal plants. Aryabhatta from Kerala
studied in University of Nalanda. He was the first to find out that the earth is round and
it rotates on its axis, creating day and night.

Question 1.

Who was Sushruta ?

gYd P ?

Answer:

Sushruta was a famous scientist and surgeon of ancient India.

Y T YRA & URIG a1 auT I -Fifras 31

Question 2.

What are the special achieve-ments of Sushruta as a surgeon ?

ol & &Y H gYd P 1 U 82

Answer:

As a surgeon, he repaired a nose and was the first plastic surgeon.

3G o & U & U A1 $I TR B 3R I T WRed o (el fafdhead) U

Question 3.

Who is the father of anaesthesia?
ufRifSTe &1 oF e oI 77

Answer:

Sushruta is the father of anaesthesia.

gyd TR & S B

Question 4.
Who was the first to find out that the earth rotates on its axis ?

gt 3O R TR g €, T8 U T aTell YYH fad i 12

Answer:




He was Aryabhatta.
Jg SMHE T

Question 5.
Write the word from the passage which means ‘students’.
Answer:

pupils.

Question 6.

Write the word from the passage which is opposite to ‘last'.
Answer:

first.

Passage 3

The concept of zero was discovered around 5th century by a great
mathematicianBhaskar. He worked on different aspects of mathematics.

Indians are proud of their glorious scientific past. With Independence in 1947 a new
page was opened in the history of facilities for scientists. Research began in many fields.
India is now a member of nuclear club, space club and the Antarctica exploration club. In
this modern race, while much remains to be done for India to catch up with advanced
countries, much has been done. India is on its way to gain the scientific glory again.

Question 1.

Who discovered the concept of zero ?

I 1 YR DI U foog A A

Answer:

Bhaskar, an Indian mathematician, discovered the concept of zero.

YR TIOTR HTShR A R D1 SHIYROI BT Ul TR |

Question 2.

Name the three clubs of international fame whose member India is.

RIS Ul & i aae & W fafae e yRdas 9w €2

Answer:

These three clubs are nuclear club, space club and the Antarctica exploration club.

3 1 39 § ; gfeamR 7ad, WY 3 3R 3f<Thicd Ay e |




Question 3.

When did India win her Independence ?
YRd 3 WA e BRI P 2

Answer:

India won her Independence in 1947.

(YR = IqaAdT 1947 H BRI Bl )

Question 4.

“India is on its way to gain the scientific glory again. How ?”

YR R I 3O I3T+es STl Ut - & U TR g 1" e

Answer:

Free India is making an all round development since independence. So, we hope that
she will regain her lost glory.

ciH URA TUH 20 3 f[JHT % 8T || 31d: TH TR B & 1o YR 3T-T WaT g
Y& dHT : T R T

Question 5.

Write the word from the passage which means ‘freedom’.
Answer:

independence.

Question 6.

Write the word from the passage which is opposite to ‘old".
Answer:

new.

Meanings and Translation

Most Indians ........... systems. (Page 83)
Word-meanings : most ('JZﬁE) 3BT are aware (3R 31331'\’) Gﬁ?f%l heritage
(%ﬁ%ﬁl) foRTI9d include (RIS = A HRATI during centuries (@ﬁ'ﬂm\_ﬂ) =
@ﬁa@fﬁ G-IT:If‘E[ffforelgn (Uv"\ﬁ_*l) fac=ii rule () = RMYI have been led to
believe (39 S A8 < faclia) = 37 T 3T o1 WR TAYRT FHRam 747 (31T 39 YHR &1
JIATERUT (AR o T foh I8 AU 31 I81) | import (SWIE) = 3| significant
@WUE) ﬂ%r_dCI;Ufl contributions (EF@@I-‘HED ?l_ER:hTH for centuries (CHWGD
Qlﬁmﬁl European (QTCﬁGFD @Uﬁﬁﬁl relics &%IW) 3GYY indus valley

@%ﬂaﬁﬂ ﬁlﬂ‘ﬂ'l’cpfl civilization (ﬁfﬁﬁ@l’&ﬂ) Tl well planned (aﬁﬁﬂg)
33! ARG W ISHIEG | drainage system (S5 RRCH) = GHT FRI &1 il |




fewat 3raTe — ST YR S € foh 37! foRmad (ol $3 S8 30+ gasil 3 ured
faram e ot IRg 39 forrad o 9gd 1 AN URAIT fag &1 2nfire &vd § | 39T e
PR TG & [ Thal auf & facef I o1 7 S= 59 91d &1 fayry feeman war i fagm
BT YR H JRIY § AT a1 771 9 39 910 &1 Yo Ol & b ofd Tt TR0 et 7 yRd
YA TR FHaH 39T I JF e a¥ Ud ¥ g1 HRA A a7 & faswr & Hgwayuf yfiter v
21 U9 16T Hie § & s91 mfle & 579 9 3000 a9 qd 39 < & ATl & U fagd
AR T U7 | Ry U1t B il & 3R, S gSuw 3R Higeies! § Ul (S 3@
UTfohea H 8) T3, ¥ Ul Il g fob 3 ATl & -WRI &1 IoT 9gd 331 off, 3! arit &l
3MYfef 3R Uit & T @t womTent agd g At

The progress ...... science. (Pages 83-84)

word-meanings : agriculture @Rided) = ?ﬁfl brick making (fsrp A = 3 T
craft @UE) = ddl remarkable (ﬂ'ﬂTzWD = 3P | yet unknown (ﬁ—d &rsh:r) =S
31t I 3T B 1 decayed (FFS) = eR-9R 7Y B 1 was lost @ ) = T &1 T |
got buried m‘faaﬂs') = Wﬂ?ﬁﬁgﬂq Q{m’TﬂﬁT@l golden age Gﬁc’_b':[EGD - Wffe
G| with wealth and the land = Y-l 3R H—W%qu advanced (TSART) =
JAfd Dt empire (@S] = JH univer5|t|es (qﬁaﬁra%r) fasy faemer| exchange
(@R W) = TGM-UGM | scholars (Wbicial) = fagH AN distant. ((§¥¢<) = R &1 lands
(aUS'GD R ll| contrlbutlons were made = WWWI fields (QﬂFS'GD REl]
astronomy (TR = G a9 (G, T5HT 04T ARI 3¢ BT ) medical science
AfSHa T29) = Fafear fagm|

fe<t 3raIe - F & F, S I & B, Hl, TUT AT & B Sl I8 [hT, ITH
3! THhaAdT YIS | 76 HUS U Y §9d U | 1T HRUN § Tg Tgar fiR-¢fiR
TV B IS SR G B TR | AR STHA H ¥ T8 a1 g7 7|

YR & fI o1 wafora g ol <rdred! $97 gd & 1dat [rdle! ddb AT | A, 2T, ST
3R T ITHTa H 4F-glad SR Y-y o ary-ury fagm = +ft I9fd 1| e, arToRd
3R derfRrar & uRig fayfaema &1 oSl <=1 $iR R <=1l & fagH! &1 9gd SeM-UaH
BT UT| IO, e A SR fafdrea fasme & &= & Sy aiTe fart |

One of ......cc........ night. (Pages 84-85)

Word-meanings : earliest (3{:{elT%) = TaH YRS | Sushruta (g¥Yd) = W{E%

R fafecr-fagm i repaired (RUSIE) = TR¥d 3, R fBaT| centuries (T=aRW) =
dTfsqdl | ago (T = UEA| surgeon (F:51) = el FAfb® | expert (TRUT) = &, fobt
S ¥ ORIy Ty removing (ﬁ'&ﬁ'ﬂ) ®CIHll urinary stones ({[R’?R’@ﬁ[) HA- PUISIE]
TR treating (?flﬁ"'l) = QIS PRI fractures (a‘WﬂGD = B%@fﬁ@?tﬂl operation
(1T = G-fHAT| even @A) = W1 advised (TSAES) = TATE <d A1 pupils
(cqfﬁa) = R to use dead bodies for practice = HHWWE@‘T aahwmﬂﬁﬁ




IR-BTS B LT H B | surgery N:\_rlﬁf) = I-FAfBdT is known @S AF) = SH

ST § | father (BTG) = S, 3MASHREB AT anesthesia (TFARARIM) = I8 B Pt aal
the first physician = PUENEIEE suggested (ﬂﬁl‘@@') AT, Il bones @)
_E!%'CITI has also described (%Tr[ 3fTe] fe [S¥hIges) = qui lﬁmgl medicinal (flﬁ':ﬁlqﬂ)

3M9efig | uses @RS = TOT1 herbal plants (8:9¢] WIUCH) = Sel-gfedl| studied (CS18)
3T fhAT| to find out = JTd B H, WIS B HI round RT3TS) = M| rotates

(ﬁéfﬂ) IFHR T § | axis (TFRI) = @Icreatmg(ﬁﬂﬁ“‘l} @FH?T@I

fe=t 3rgare - TTRmeb 4Tl H 9 Ueb Y4 A1 26 Wcllfsdd! Ugal I U gl §3 b
DI TR DI A 3R 98 TYH WIRe® Toid U | JF-UMelt 9 Ul g - H, 8fgdi & g
BT AT B H 3R 3Gl & TR H | d a&f 3| a8 310 | &1 e -Ferforen 9
Ugd, o ARl TR 31T, 31Ufd 39 WR 3{eqa o3 &1 Jarg Hi ¢d U1 37 d5I B
Il a1 BT S Ht el SIdT 8 | TR vH Rifrcs 3 i 9dman (gmanfe ama IRk
T 360 BT BIdl 8 1 S5i- ATHTT &Y T ofe! §fedl o 3fuefy on &1 off 9o faran g |
R (ARt smivE, Arciar fayfaarad & sieqgd &vd U1 98 Ugd afad o forg i 31d faear
T fob gt Ma B 3R a8 3o ¢} IR et § 3R feA-3ra st 3

The concept .............. again. (Page 85)
Word-meanings : concept @'Q) = 3dYRUI| was discovered (dT\,rI %Wd:@) = Gl
fTar T around (3R13VS) = AH-UTH | mathematician (ﬁﬁrﬁ%m) S UGE] aspects
(@ ) = U, &1 Indians are proud (0SS 3R UI3S) = HRAARM! &I 74 B
glorious (FAR3M) = IYTRE | scientific (ATEf<f®) = AP past (URE) = TR BT
a new page was opened = Ud [ ST I T facilities Wﬁ) = ﬁﬁ‘iﬂa
research (W:ED - MY B began (@'ﬁTﬂ = Y= g3 fields (UﬂFSTrD = &3 | nuclear club
(?{%I'CRHEED = 3{TUIfd% T antarctica = fcThicH] | exploration @Wm =
3<AYUT race (iﬂ) agl while (&1gd) = SI§Td | much remains to be done = dgd 99
ST TH! B to catch up (€ T 3U) = JTY-J1Y 3T, SRSR BT 81 ST advanced
(QEH@ fomidl i |s on the way (sﬁr&nqaé) UQICR% Tﬁ?ﬂﬁ%l gain (ﬁ‘D I*] 1S
ST glory (FWIR) = dHd|

fg=dl 3rgaTa — Urerdl TdTeg] & 3TH-UTH Teh HET TOIAR HIShR GR1 I I TR Bl
TE | I T & fafire & uR e fapa|

YRR &1 30 JHIRITA YAbTd (T ) TR TIRd g | 1947 H SSTIe! & A1 -1Yy
AT & ford gfaensii & Sfagr § T a1 3 URT oMl 3Md & J Y H L&
g 39 HRATY, GIRTR T8, WY o7 3R SfeTehiesh w0l bl Herd €| T MY
als o YR &1 gIR fadRId = &1 aR1as! & 3 & fog 3nft 95 $8 H1 91! § 3R
agagﬁ%%mlﬁwgm% YR Y YT aRMHdb aHd &1 G: U B & 30 A1 R
=i g1




